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1: 1
2Work out the following, showing your method and simplifying your answer:

Show that 11
7 · 6

7 = 48
49

__________

a) Show that 3
7 · 13

4 = 3
4

__________

b) 

Show that 13
7 · 5

7 = 1 1
49

__________

c) Show that 3
4 · 14

5 = 1 7
20

__________

d) 

2: 1
2Work out the following, showing your method and simplifying your answer:

Show that 5
6 ‚ 41

2 = 5
27

__________

a) Show that 11
8 ‚ 2

3 = 111
16

__________

b) 

Show that 31
3 ‚ 2

5 = 81
3

__________

c) Show that 7
9 ‚ 11

9 = 7
10

__________

d) 
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3: 1
2Work out the following, showing your method and simplifying your answer:

Show that 22
3 · 21

4 = 6

__________

a) Show that 13
5 · 11

4 = 2

__________

b) 

Show that 31
2 · 12

3 = 55
6

__________

c) Show that 13
4 · 21

3 = 4 1
12

__________

d) 

4: 1
2Work out the following, showing your method and simplifying your answer:

Show that 11
6 ‚ 41

2 = 7
27

__________

a) Show that 12
5 ‚ 31

3 = 21
50

__________

b) 

Show that 11
3 ‚ 11

5 = 11
9

__________

c) Show that 13
7 ‚ 11

7 = 11
4

__________

d) 
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1: 1
2

8
7 · 6

7 = 48
49a) 3

7 · 7
4 = 3

1 · 1
4 = 3

4b) 10
7  · 5

7 = 50
49 = 1 1

49c) 3
4 · 9

5 = 27
20 = 1 7

20d) 

2: 1
2

5
6 ‚ 9

2 = 5
6 · 2

9 = 5
3 · 1

9 = 5
27a) 9

8 ‚ 2
3 = 9

8 · 3
2 = 27

16 = 111
16b) 

10
3  ‚ 2

5 = 10
3  · 5

2 = 5
3 · 5

1 = 25
3  = 81

3c) 7
9 ‚ 10

9  = 7
9 · 9

10 = 7
1 · 1

10 = 7
10d) 

3: 1
2

8
3 · 9

4 = 2
1 · 3

1 = 6
1 = 6a) 8

5 · 5
4 = 2

1 · 1
1 = 2

1 = 2b) 
7
2 · 5

3 = 35
6  = 55

6c) 7
4 · 7

3 = 49
12 = 4 1

12d) 

4: 1
2

7
6 ‚ 9

2 = 7
6 · 2

9 = 7
3 · 1

9 = 7
27a) 7

5 ‚ 10
3  = 7

5 · 3
10 = 21

50b) 
4
3 ‚ 6

5 = 4
3 · 5

6 = 2
3 · 5

3 = 10
9  = 11

9c) 10
7  ‚ 8

7 = 10
7  · 7

8 = 5
1 · 1

4 = 5
4 = 11

4d) 


